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. Factorise p(x) = x* + x3- 7x% -x + 6 by factor theorem.

. Prove that 2x* - 6x3 + 3x2 + 3x - 2 is exactly divisible by x? - 3x + 2 by

1) actual division 1) Without actual division

(4x%-9y?)3+(9y?-16y?)3+(162%—4x?)3
(2x—3y)3+(3y—42)3+(42—2x)3

Factorize:b
i) 3(x +2)2-5(x+2)+ 2 ii) x® + y®
Ifa + b+ c =9andab + bc + ca = 26,finda? + b? + c?

. Find the zeroes of (x — 2)? - (x + 2)2.

. If y = —1 is a zero of the polynomial q(y) = 4y3 + ky? — y — 1, then find the value
of k.
Ifx + =~ = 5, find the value of x3 + 13
X X
For what value of mis x3 - 2mx? + 16 divisible by x + 2.

10. Find the value of polynomial 8x3 — 6x% +2atx = 1




